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HARDY-WEINBERG PROBLEMS

1. What conditioning must be true for a population to stay in Hardy-Weinberg equilibrium?
a. _____________________________________________________________

b. ______________________________________________________________

c. ______________________________________________________________

d. ______________________________________________________________

e. ______________________________________________________________

2. In a population that is in Hardy-Weinberg equilibrium, 16% of the individuals are recessive. What is the frequency of the dominant phenotype (heterozygous and homozygous dominant) in the population? (Express frequency in percent)

Frequency heterozygous


__________

Frequency homozygous dominant
__________

3. About 70% of people can roll their tongue, which is a dominant trait. What is the frequency of the following in the population: a, A, AA, Aa     (Express frequency in percent)

Frequency of a
__________

Frequency of AA
__________

      Frequency of A
__________

Frequency of Aa
__________

4. In a population of 500 plants, 20 have white flowers and are recessive. How many plants will be red and homozygous dominant?

Number of plants that are red and homozygous dominant?
__________

5. The disease PKU (phenylketonuria) occurs once in every 10,000 births. What is the frequency of the carriers in the population? What is the chance that two carriers will mate? (Express frequency in percent)

Frequency of carriers


__________

      Chance that two carriers will mate
__________

6. 9% of people in Africa are born with sickle-cell anemia. What percent of the population posses the heterozygote advantage?  (Express frequency in percent)

Percent of population that are heterozygote
__________

7. In a large interbreeding population, 17% of the individuals are homozygous for a recessive character. In the absence of a mutation or selection, what percentage of the next generation would be homozygous recessive?  (Express frequency in percent)

Percent homozygous recessive
__________

      CRITICAL THINKING PROBLEMS

8. A population has 8 times as many heterozygotes as homozygous recessives. What is the frequency of the recessive gene? (Think about what pieces of information you know!)  (Express frequency in percent)

Frequency of the recessive gene
__________

9. A recessive characteristic appears in 40% of males and 16% of females. What kind of trait do you think this is? How many females are heterozygous for it? How many males are heterozygous for it? How many males will not show the characteristic?  (Express frequency in percent)

Type of trait
___________________________________

Frequency of heterozygous females


__________

Frequency of heterozygous males



__________

Frequency of males not showing the characteristic
__________

